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Active intermediates   ⋅3CH ⋅CHO  
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lope = -28.208=-1/Km  Km = 0.035 g mol/l 
.018=Vmax/Km   Vmax = 6.372 × 10-4 gmol/L min 
b)  

max � [Et], If the enzyme concentration is increased by a factor of three, then 
max = 3(6.372 × 10-4)= 1.91 × 10-3
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S = 0.00915 mol/L 



3. 

Assume the rate law is of the form 2

2
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at PVTIPO = 1.5 ,-rVI = 0.095 
at PVTIPO = 2 ,-rVI = 0.1 
Now find the activation energy 
At low pressure and high temperature k=11.2 
At low pressure and low temperature k=0.4 
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4. 
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Low PPTTP  P2
TTIPKPKI << PP1  reaction is second order  

High PPTTP  P2
TTIPKPKI >> PP1  reaction is zero order 

High temperature KI very small such that P2
TTIPKPKI << PP1  reaction is second 

order . 


